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UGC NET PAPER 2 MARCH 02, 2022 SHIFT 2 ODIA QUESTION PAPER

Topic:- GP38_D3_SHZ_SET2_A

1) Study the given table carefully and answer the question that follows :
The following takle gives the percentage of marks obtained by & students in & different subjects in an examination.

Mote: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)
Physics Chermistry Math History Computer | Hindi
Student

(100) (100) (100) (50) Science (50)| (50)

A &0 76 63 40 36 24

B 90 68 72 42 38 26

C 85 81 75 38 12 31

(M 75 79 58 28 28 34

E 45 &5 62 31 29 28

F 68 72 &8 26 34 30

HIzuil w3 tarergEs afes Jiiz 31 g amentya geA aw Fe G
ofier & onf Fmenft & oo witgn 3t 6 REniEt Zer 6 acer - o R 3 gra Beg o st gitrora R &

Foouft ; oteem @ &t o1 S g R O aftneos ot o a3 aown 3

fera=T { ARrpIR D)
iRl | Twwml fomer | i | wiomr | wneogeE R
Rrexsfi B2 (50)
{100) (100} {100} | (50) {50}
A 80 76 63 40 36 24
B 50 68 | 72 | 42 38 26
C 85 81 75 38 32 i
D 75 79 58 28 28 i4
E 45 &5 62 31 29 28
F c8 72 63 26 34 30

What is the percentage of total marks cbhtained by student A?
Fremreit A i grA Bvg = ayer aient o gieren e g ?

[Question ID = 2730][Question Description = S2_q5Nz_PG_GP38_Q01]
1. 71

[Option ID = 10917]
2. 74

[Option ID = 10918]
3073

[Option ID = 10919]
4. 72

[Option ID = 10920]

2) Study the given table carefully and answer the question that follows :
The following takle gives the percentage of marks obtained by & students in & different subjects in an examination.

Mote: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)
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Physics Chemistry Math History | ¢ omputer | Hindi
Student

{100} {100) {100) {50) Science (B0)| (30)
A a0 76 63 40 36 24
B 90 68 72z 42 k. 26
c 85 81 75 38 32 31
D Fi 79 58 28 28 34
E 43 63 62 3 9 28
F 68 72 68 26 34 30

AUl B ey aigw sfiz T3 O snenfE ged aa e S

i< €1 o€ Frevlt & v uflan A & ReEnfR oET 6 et - aoeT Rt 3 g e s st o1 gitert e 3

ot ; e 3 £ 5 dw=n g A # fieras sl & 9 # aarn &

Rverer (aiftraires)
iRl | Twwml fomer | T | wiom | neogeE R
et & (50)
{100) (100} {100} | (50) {50}
A 2O 76 63 40 36 24
B 50 68 72 42 38 26
C 85 81 75 38 32 i
D 75 79 58 28 28 34
E 45 63 &2 3 29 18
F G8 72 63 26 34 30

What is the difference of percentage in the total marks of students D and E?

Fremeff D afiz E & agor sirst o gftrera & oo sime & 7

[Question ID = 2726][Question Description = $2_qSNz_PG_GP38_Q02]

1. 9.28

[Option ID = 10901]

2. 9.68

[Option ID = 10302]

30943

[Option ID = 10903]

4, 9.34

[Option ID = 10904]

3) study the given table carefully and answer the question that follows :

The following takle gives the percentage of marks obtained by 6 students in & different subjects in an examination.

Mote: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)
Physics Cheristry Math History | ¢ omputer | Hindi
Student
(100} (100) (100) (50) Science (5Q)| (5Q)
A 80 76 68 40 36 24
B 90 68 72 42 38 26
c 85 81 75 38 32 31
D i 79 58 28 28 34
E 43 63 62 31 19 28
F 68 72 63 26 34 30

AR @ ey aigw sfiz T3 U arenfE ged an e A
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a1 €1 o1 Al & o aflan A & RenfRRl 2R & et - st Rl 3 g Rew s1e 3ie) @1 gfeer ek 3 I l epp

ot ; e 3 £ 5 dw= g A # sfieras sl & 9 f aarn & .
Your Personal Exams Guide

Rrerer (aiftraires)
diferbt | rowmel fosmer | ST | Eiomrd | eeres s
e 3 (50)
(100) (100) (100} | (50 (50)
A 80 76 63 40 36 24
B 50 68 72 42 38 26
C 85 81 75 38 32 3
D 75 79 58 28 28 34
E 45 63 62 31 29 18
F c8 72 63 26 34 30

What is the average marks of students in Physics, Chemistry, and Math?
sifferr e, T fasmer Az sifing 3t Renfdi wr e ais 7 & ?

[Question ID = 2727][Question Description = $2_qSNz_PG_GP38_Q03]
1. 212.6

[Option ID = 10905]
2. 214.5

[Option ID = 10906]
3. M3.7

[Option ID = 10907]
4. 210.4

[Option ID = 10908]

4) study the given table carefully and answer the guestion that follows :
The following takle gives the percentage of marks obtained by 6 students in 6 different subjects in an examination.

Mote: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)
Physics Cheristry Math History | ¢ omputer | Hindi
Student
(100} (100) (100) (50) Science (B0)| (30)
A 30 76 638 40 36 24
B 20 63 72 42 38 26
c 85 81 75 38 32 31
D 73 79 58 28 28 34
E 43 63 62 3 9 28
F 68 72 68 26 34 30

AU @ ey aigw sfiz T3 O srenfE gea an e e
i1 €1 o1 Frevft & v aflan A & RenfR oET 6 et - et Rt 3 O e s st @1 gitert fen 3

oot ; e 3 £ 5 dwn g e # sftesay sl & 9 f aarn &

Ererer (miftrecni?ies)
wiferst R femer | ot | ohera || aeogee R
st &= (50)
(100} (100) {100} | (50 {50}
A 20 76 68 40 36 24
B g0 68 72 42 38 26
C 85 &1 75 38 32 k3
D 75 79 58 28 28 34
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E 45 65 62 3 29 1B . l e p p
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Which student obtained maximum marks?
Fioa o=l &1 AifrsaH i ga Been 7

[Question ID = 2728][Question Description = $2_qSNz_PG_GP38_Q04]
1. A

[Option ID = 10909]
2. B

[Option ID = 10910]
3ol

[Option ID = 10911]
4. D

[Option ID = 10912]

5) Study the given table carefully and answer the question that follows :
The following takle gives the percentage of marks obtained by 6 students in & different subjects in an examination.

Note: The number in the bracket gives the maximum marks in each subject.

Subject (Max Marks)
Physics Cherristry Math History Computer | Hindi
Student
{100} (100) (100) (50) Science (50)| (50)
A B0 76 68 40 36 24
B 90 68 72 42 38 26
C 85 81 75 38 32 31
D 75 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 68 26 34 30

AU 1 e aigw sfiz T3 uE smenfE gea an e A
Sl €1 wrd mrlt # ves oflen IF & Frend@fl p 6 sres - siceT el 3 oy Ry sny aiest @t gffior e &

fecalt @ worsses 91 £ e sy grdes faaer 9 rPrere oieet 95 & o aoen B

Rverer (aiferaires)
diferbl | rorE Remer | ot | sfem | wowes s
et &= (50)
(100} (100} {100} | (50} {50}
A B8O 76 b3 40 36 24
B %0 &8 72 42 38 26
C 85 81 75 38 32 KR |
D 75 79 58 28 28 34
E 45 65 62 31 29 28
F 68 72 63 26 34 30

Find out the number of students who obtained more than ar equal to 0% marks in all subjects?
I feenizha @61 dwm o S e i ke & 0% w s i e ga L ¢

[Question ID = 2729][Question Description = $2_qSNz_PG_GP38_Q05]
1. 4

[Option ID = 10913]
23

[Option ID = 10914]
3.2

[Option ID = 10915]
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Topic:- GP38_D3_5HZ_5ETZ_B

1) The theory of Zone of Proximal Development was proposed by :
Ffiazer R & siifer o gia o fead g giimoiza o srm ?

[Question ID = 2731][Question Description = S2_qSNz_PG_GP38_Q06]
1. Piaget/Krmar

[Option ID = 10921]
2. Freud/wrs

[Option ID = 10922]
3. Vygotsky/amsiesdt

[Option ID = 10923]
4, Bloom/=ga

[Option ID = 10924]

2) In libraries, the process of digitization began with services in the following order :
A. Periodicals and large reference works

B. Cataloguing services

C. Periodical indexing and abstracting services

D. Book publishing

Choose the correct answer from the options given below :

gaepIcrl 9 Kool Aansil @ A1 gRy sl <5l RfiRasn &t gitpen @ erelkiRaa o 3 ¢
A. amafire ufffe iz gea e am orl

B. =ht gomm &t Irart

C. smaftrr et smAlReT g sfiz AR A

D. gz w1 goierel

ol 8u a1e fRepedl d A A6l 307 @l o=Im ifans

[Question ID = 2732][Question Description = $2_qSNz_PG_GP38_Q07]
1. A, B,C, D,

[Option ID = 10925]
2. B,C,AD

[Option ID = 10926]
3. C,B,D, A

[Option ID = 10927]
4. D, A B, C

[Option ID = 10928]

3) Given below are two statements ;

Statement I: Short-term memory encompasses encoding and short-term storage and manipulation,
Statement Il; Short-term memory has a limited capacity.

In light of the above statements, choose the most appropriate answer from the options given below
il Gl o Rz sm & ;

@erel - | 1 acumIfires Tf axag o) AiT AcudIied sErm iz s - dis St figzn o onfde wwdt 8

were - || ; scamiters Fgia Bt Hifda s 3t 2

IRITh el & e 3, offd Ry a1 faeseal 3f 2 7192 IWREP Suz o au Hifs |

[Question ID = 2733][Question Description = S2_q5Nz_PG_GP38_QO08]
1. Both Staterment | and Statement [l are correct/wem | iz 1l el 28t &

[Option ID = 10929]
2. Both Statement | and Statement |l are incorrect /owem | #iE || 6l s &

[Option ID = 10930]
3. Statement | is correct but Statement Il is incorrect /e | gt 8, freg ooa |l aiew £

[Option 1D = 10931]
4, Statement | is incorrect but Statement Il is correct/wem | 7w 2, fveg wem || =2t 8

prepp
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[Option ID = 10932]

4) Which tools will you use to prepare schedules and class time tables?

A. Microsoft Qutlook
B. Trello

C. Google Calendar
D. Tally

E. Koha

Choose the correct answer from the options given below:

DRIpAAL 3T DL FHRI - HIRUH D1 112 W AT I Dol Hl DAl w1 Fu=Iet sl ?

A. IEpRiiTe s
B. e

C. spma BHowse

D. it

E. @izt

oIy few o1e faoscal 3 31 A8 Sz @1 o i

[Question ID = 2734][Question Description = $2_q5Nz_PG_GP38_Q09]

1. A, Band Conlyf@am A, Bafiz C

[Option ID = 10933]
2. B,Cand Donly/@mm B, Caie D

[Option ID = 10934]
3. C,Dand Eonlyf@am C, DA E

[Option ID = 10935]
4, A, Cand Eonly/a@sam A, C iz E

[Option ID = 10936]

5) Match List | with List Il

List |

List Il

Model of Teaching

Developer

4. Positive interdependence

|. Robert Slavin

B. Structured inquiry

Il. Fannie Shaftel

C. Group investigation

lll, Roger Johnson

I. Role playing

I¥. John Dewey

Choose the correct answer from the options given below:

It | w1 et Il B fE b ;

et -1 et -1l

{Fngror sifser) |(Rrrre st wt Rigor)
A, FTREAET G i . ez TenfEem

B, izRw geo 1. @it iR

C. FdE Aeauuy . 2 sifeTar

D. sifirect Bredem

|W.E'ﬁal%a‘i

ol By w0y Fravedt 3 3 wd) wee gftny @

[Question ID = 2735][Question Description = $2_q5Nz_PG_GP38_Q10]

1. A-Il,B-1,C-IV,D-I

[Option ID = 10937]
2. A-1,B-I¥,C-1,D-lN

[Option ID = 10938]
3. A-IV,B-Il,C-lIL, Dl

[Option ID = 10939]
4, A-1l,B-l,C-1,D-I¥

prepp
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[Option 1D = 10940] . re p p

6) Which one of the following is a non-parametric statistic? Your Personal Exams Guide
freaiferfina 3 A olor v 31z - grafers aiflsadn § 7

[Question ID = 2736][Question Description = $2_qSNz_PG_GP38_Q11]
1. F- statistic/F - Fiff=nst

[Option ID = 10941]
2. t - statistic/t - =ikt

[Option ID = 10942]
3. Pearson's correlation/dieeder o s kit

[Option ID = 10943]
4. Spearman'’s correlation/sirE=iie o1 7E - ZET

[Option ID = 10944]

7) Given below are two statements

Statement I; Use of multivariate statistics in social research has increased due to the availability of statistical software,
Statement |l; Multivariate statistics are easier to comprehend as compared to the bi-variate statistics,

In light of the above statements, choose the correct answer from the options given below :

ol <1 erer Ru s & ¢

were - | @ smaleres sgiensl # dguz Hifteab! o1 usilsl Aifisad anredens B JucreeRil © Sl 96 51 &

werel - || 1 agae wifierdl, fas aifisrdt & gooen # werser 7 arars 2

IWRYTe Dol @ Al A, s 16w s1e fawcul 3 3 wdl a7 B o6t Difare @

[Question ID = 2737][Question Description = $2_q5Nz_PG_GP38_Q12]
1. Both Statement | and Statement Il are true/=em | iz |l S&i 3w &

[Option ID = 10945]
2. Both Statement | and Statement [l are false /e | & 1| Sl spwer &

[Option ID = 10946]
3. Statement | is true but Statement Il is false/mem | 37 &, Frog @ud |l opra 2

[Option ID = 10947]
4, Statement | is false but Statement Il is true/wem | spwa &, Fosg wem || s &

[Option ID = 10948]

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The value of correlation coefficient is in the range of -1 to +1.

Reason R : Correlation between two variables doesn't help in predicting the value of a variable even if we know the value
of another variable.

In light of the above statements, choose the correct answer from the options given below

i) ot weaet Rw s1w 3 © wep afdnpera (Assertion A) @ u # 3iiz o1 33 wrwt (Reason R) D wa 4 &

Afirperm (A) | AsHEe ST ©f dJ6t -1 A +1 & s & dka 3 g 2

@w1vl (R) : 35T 21 @2l & W 3 b @ © Al O Yalgare ol d OF AeRRI ol Biertt 2, af? 23 gzt az o aner uar oft &t
IUATe Bl @ ARRD #, R By famedl # A 718 saz o wre Hifse |

[Question ID = 2738][Question Description = $2_q5Nz_PG_GP38_Q13]
1. Both A and R are true and R is the correct explanation of A/(A) afiz (R) gt e & At (R), (A) & 2 o &

[Option ID = 10949]
2. Both A and R are true but R is MOT the correct explanation of A/ (A} stz (R) =iat 7w & gy (R), (A) o 3t oo =i 8

[Option ID = 10950]
3. Ais true but R is false/(A) 37 & weog (R) s &

[Option ID = 10951]
4, Ais false but R is true/(A) s 2 wag (R) e &

[Option ID = 10952]

9) Focus groups as a technique is especially valuable in which of the following scenarios?
A. When the researcher has perfect clarity about the research.
B, For obtaining general background about the topic or issue,

C. For interpreting previously obtained quantitative results.

prepp
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D. When the researcher is interested in establishing a causal relationship between two variables. . l e p p

E. For generating a level of understanding about influences in the participants’ world. .
Your Personal Exams Guide

Choose the correct answer from the options given below:

forrafeilion uftegal 3 o aweiks © wu # DR w9 RYg wu 3 Fxish 3 @
A. s/ eieroal @ oiter @ e 3 gl Favedar &l

B. ifts srerar o @ aF # A&HIGT HBRDT YIA 3ol

C. gd 3 g Ree s1v afsmnesrs afymil B saes ween

D. sm giterarat 31 TRl @ dia BRUITHS 4Ll @1 FeiT o OB 5701 33T 8t
E. gftnstt giern 3 ganal & an 3 w9t @ 7= svued wIen

i) f8u a1 fRepedl 3 A A6l Se @l w=s ifans :

[Question ID = 2739][Question Description = $2_qSNz_PG_GP38_Q14]
1. A, Band D onlyf@am A, Bafiz D

[Option ID = 10953]
2. B,CandEonly/s&aar B, C3fin E

[Option ID = 10954]
3. B,DandEonly/®=a B, D sz E

[Option ID = 10955]
4, C,DandEonly/sam C, DA E

[Option ID = 10956]

10) Match List | with List Il

List | List Il
Statistical TermsDescription

A, Mominal l. Spread in values of data
B. Ordinal |. Expected value

C. Mean [ll. Ranking

', Yariance ¥, Categorization

Choose the correct answer from the options given below:

et | 1 3t -l B A i ;

et -1 il

(B2 1B e R {avia)

A anfdmT |. oo o Fwen 3 dora
B. i 1. grenfr wer

C. sfizra I, 3Ryt

D. qzen IV, sl

o) i o Frredt & 3 25t amz gfem ©

[Question ID = 2740][Question Description = $2_q5Nz_PG_GP38_Q15]
1, A-ll ,B-IV,C-Nl,D-l

[Option ID = 10957]
2. A-IV,B-ll,C-Il, Dl

[Option ID = 10958]
3. A-,B-1,C-IV,D-I

[Option ID = 10959]
4. A-l,B-Il,C-IV,D-

[Option ID = 10960]

11) In non-verbal communication, 'Chronemics’ refers to:

J-onfcems AYUW # ‘Dlaldrad Kot #afta & 7

[Question ID = 2741][Question Description = $2_qSNz_PG_GP38_Q16]
1. Time/z=m=

[Option ID = 10961]
2. Place/zema

[Option ID = 10962]
3. Space/amworar

[Option ID = 10963]
4. Person/cafie

prepp
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[Option ID = 10964] I re p p

12) In communication, semantic barrier refers to : Your Personal Exams Guide
Fquor #, oreorel mien Road At & 7

[Question ID = 2742][Question Description = $2_qSNz_PG_GP38_Q17]
1. Denctative meaning/ @zt

[Option ID = 10965]
2. Varied connotations/ff@er sgeere!

[Option ID = 10966]
3, Truth/=e=

[Option ID = 10967]
4. Singular meaning/ woe a1ef arer

[Option ID = 10968]

13) A leave application from a clerk to the principal of the institution, is an example of :
U FTelrel @ Yerelrr! o1 uo Riftes 21 yia sraceml ol grefanug sz duvT &1 e & 7

[Question ID = 2743][Question Description = $2_q5Nz_PG_GP38_Q18]
1. Downward communication/migel simer

[Option ID = 10969]
2. Upward communication/zedazlt amwer

[Option ID = 10970]
3. Horizontal communication/ Sifer it

[Option ID = 10971]
4, General communication/ AaFmsT Fam

[Option ID = 10972]

14) In which one of the following types of communication, the client initiates a transaction by requesting information from
a server?

AT W A PR # 9 Wl A FEen YId B0l D #AeT R Aarei ACasr grEs wa &

[Question ID = 2744][Question Description = $2_qSNz_PG_GP38_Q19]
1. Education Technology/Bisr giiiswst

[Option ID = 10973]
2. Pull Technology/ g1 gienferst

[Option ID = 10974]
3. Ancient Technology/urelsr gi=nErE:

[Option ID = 10975]
4. Push Technology/gyr gief3rbt

[Option ID = 10976]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Being judgemental on the part of a teacher is a barrier to communication,

Reason R: For effective learning outcomes, the teacher should expose the ignorance of students.

In light of the above statements, choose the correct answer from the options given below :

ofiY 31 e RBu s ¢ wop aifdroera (Assertion A) @ =u 3 iz gz sas orer (Reason R) & wa # ;
firerera (A) ; T9tere Bt ao6 3 71 e don Fuwr &5t ww aen &

o101 (R) : purdl afee ufyme & e Rige ©f MenRi & a1y o goc oo arfée

3UNeh Bl @ el 3, ofky fdu famedl 3 21 7l saz &1 awe Hifs ;

[Question ID = 2745][Question Description = $2_qSNz_PG_GP38_Q20]
1. Both A and R are true and R is the correct explanation of A/(A) 3z (R) Seil a7 & 4z (R), (A) & 338 s &

[Option ID = 10977]
2. Both A and R are true but R is MOT the correct explanation of A/(A) iz (R) 2= = # uzsg (R), (A) &5 78 =ne=m =t &

[Option ID = 10978]
3. Ais true but R is false/ (A} = &, ooy (R) s 2

[Option ID = 10979]
4, Ais false but R is true/(A) sera &, mag (R) wrar &

[Option ID = 10980]

16) In the series 358, 364, 370, _ _ _ , what will be the 12t term?

prepp
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ojzrer 358, 364, 370, - - -, 3 12 ai ag o Sorr ? I repp

[Question ID = 2746][Question Description = $2_qSNz_PG_GP38_Q21]
1. 420

[Option ID = 10981]
2. 424

Your Personal Exams Guide

[Option ID = 10982]
3, 428

[Option ID = 10983]
4. 432

[Option ID = 10984)]

17) Given below are two statements :

Statement I: An item is sold for ¥145 at a loss of 20%. The cost price of the item is ¥185,
Statement |l: The average of first 30 natural numbers is 15.5.

In light of the above statements, choose the correct answer from the options given below
ofidr < werer e s & ¢

oo - | o arg 20% Hrafi oz 145 = AN =m & arg o aea gz 185 %, 8

werel - |l 2 gear 30 greis sAwara o sfiaa 15,5 g &

IWYTe Dol @ Al #, s 6w s1e fawcul 3 3 w1l Idz DI o6 Difare @

[Question ID = 2747][Question Description = $2_q5Nz_PG_GP38_Q22]
1. Both Statement | and Statement Il are true/=em | iz |l S&i 3wy &

[Option ID = 10985]
2. Both Statement | and Statement [l are false/mem | dr || Sl sreea 2

[Option ID = 10986]
3. Statement | is true but Statement Il is false /e | 37 2, Prog @ud | oera 2

[Option ID = 10987]
4, Statement | is false but Statement Il is true/wem | spwa &, Fosg wem || s &

[Option ID = 10988]

18) Consider the following fractions:

A. 11717

B. 5/6

C. 2/3

D. 4/11

E. 6/11

Choose the correct answer from the options given below
feremtert3a fireai a7 Rrene $ifsne :

A, 11/17

B. 5/6

C. 2/3

D. 4/11

E. 6/11

Reafeifiaa A wia o1 agar gan #Et g & ?

[Question ID = 2748][Question Description = $2_qSNz_PG_GP38_0Q23]
1. DeE<A<C=B

[Option ID = 10989]
2. D<A<E<B=(

[Option ID = 10990]
3. D<B<C=E=<A

[Option ID = 10991]
4 A=<D=<=C=<B=<E
[Option ID = 10992]

19) The angle made by the minute hand of a clock while moving from 3:45 pm to 6pm is ;

prepp
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ver sier a3t 3 Brore &t g Zrer srawrs 3:45 w5 A arans 6 @31 @B oit S FeRT YeIRN St I WYY B B .repp

[Question ID = 2749][Question Description = $2_qSNz_PG_GP38_Q24]

1. 540° Your Personal Exams Guide

[Option ID = 10993]
2. 7407

[Option ID = 10994]
3, 810°

[Option ID = 10995]
4. 510°

[Option ID = 109%6]

20) Four bells begin to toll together and then toll at intervals of 3, 5, 7 and 10 seconds respectively. They will toll together
next after :

1z Hiedl ueb w12 defoll grRH Bl 2 aiiz fivz 4 agaer: 3, 5, 7 sz 10 Adus o aiaard uz @oriedt § 4 a1 3 b Al Gon: bl ADUS 491G
aoplt ?

[Question ID = 2750][Question Description = $2_qSNz_PG_GP38_Q25]
1. 840 seconds/840 #dug

[Option ID = 10997]
2. 480 seconds/480 Igwe

[Option ID = 10998]
3. 210 seconds/210 ¥

[Option ID = 10999]
4, 240 seconds/240 dgwe

[Option ID = 11000]

21) Which of the following statements correctly apply to inductive arguments?
A. They are neither conclusively valid nor invalid.

B. Adding new premises makes no difference to the argument,

C. Adding new premises may strengthen/weaken the argument,

D. Conclusion follows from premises with absolute necessity.

Choose the correct answer from the options given below:

MPTHARHG doara uz afaliaa i 31 oia A sue 78 aflds A apLaa 7
A, O o1 ar aifar a0 A e 2 o odf a3

B. oIz anerzara=I o onfiie ool A adaras U O NI ol Usdar 2

C. oIT MENara?] @1 i ool A dmara A9h / gda 3 Adar &

D. formist smavarsben drel amenzara 3 foreod foraer &

oflal 12w a1u taeseal 3 3 Fél Iz @1 ool I ©

[Question ID = 2751][Question Description = $2_qSNz_PG_GP38_Q26]
1. Aand Donly/asmT A d O

[Option ID = 11001]
2. Aand Conly/@aca A diz C

[Option ID = 11002]
3. Band Donly/@aa B 4z D

[Option ID = 11003]
4, AandBonly/®mm A#z B

[Option 1D = 11004]

22) Match List | with List Il

List | List Il

In Square of opposition Resultant propasitions

A. If ‘Mo stars are Dull’ is True I. 'E' and " are Undetermined
B. If 'some flowers are fragrant' is True Il. 'E' is False and *I' is True

C. If "All sweets are sugary’ is Trua lll. ‘A" and "0" are Undetermined
D. If 'some animals are not mammals’ is TruellY. "A' is False: "0 i5 True

Choose the correct answer from the options given below:
It -| < gt -l @ g b
et -l et -l
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4. aifd "es1E ricy eniferdter @l B mr B I. 'E" sz 'I" afdafiee B

B. aR " gp gogee € acw @ Il 'E’ arerea & stz I scw & Your Personal Exams Guide
C. af2 "zraft Pl ool ach B aex ® I, "A' & 'O afalRe B

D. ot “axs soems soeendt ol ¥ A E IV. "A’ serear B, 3tz "0 we &

it 2w o Rreredt 1 3 w5t one g ¢

[Question ID = 2752][Question Description = $2_q5Nz_PG_GP38_Q27]
1. A-IV,B-lIl,C-l,D-l

[Option ID = 11005]
2. A-l1,B-N,C-I¥,D-

[Option ID = 11006]
3. A-IL,B-IV,C-1,D-I

[Option ID = 11007]
4, A-l,B-Il,C-Nl,D-I¥

[Option ID = 11008]

23) ldentify the fallacy committed in the argument,

All men who understand women are potentially perfect husbands.

All potentially perfect husbands are men of infinite patience.

Therefore, some men of infinite patience are men who understand women,
= aoarad 3 O Sl JaEe |

it gmy i Alden ©f JAIEAA E 4 a: 9Jeo ufa B 2

it AAsa: 9cs afty il Sd e a1 &

aftre, oo aeiifia fid af gea @ gea § o afdar o aaee §

[Question ID = 2753][Question Description = $2_qSNz_PG_GP38_Q28]
1. Fallacy of IWicit Major/ sm=ma - =y - g

[Option ID = 11009]
2. Fallacy of licit Minorfaeng - 281 - g

[Option ID = 11010]
3. Existential fallacy/afrralier - S

[Option ID = 11011]
4. Fallacy of Undistributed Middle/smmm - &3 - g

[Option ID = 11012]

24) In the Nyaya system, what is an inference called when it is based in its middle term being only positively related to the
major term?

IRl figie o, dvael 1A U 2 araed WU I HdRIA ol &) iolHTol @Y Tl @l Sl & | Ag $HD & U Uz anenfed aiar 2

[Question ID = 2754][Question Description = S2_qSNz_PG_GP38_Q29]
1. Kevatarvayi/Samarord

[Option ID = 11013]
2. Kevala-vyatireki/dam - =it

[Option ID = 11014]
3. Anvaya-vyatireki/ o - ol

[Option ID = 11015]
4. Vyatirekanvayi/=ifiaeaeh

[Option ID = 11016]

25) Given below are two statements ;

Statement I: In the Nyaya system of inference, the major term (sadhya) can exist without the middle term (hetu).
Statement |l: According to the Nyaya system, the middle term {(hetu) cannot exist without the major term (sadhya).
In light of the above statements, choose the correct answer from the options given below

oIkl §1 were Ru s1w 3 &

D - | 2 el @& warRl Ragia 3 A - ue 3 - Us & Ken sil¥dcadarel &l 3w &
wead - || : =R Bigia @ siuR 3g-us aea-us @ e ailaraare &8t @ awa &
IUTe el @& 3Ilcls #, sila v s1e fepeal 3 A A8 3w ©! @ difers
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[Question ID = 2755][Question Description = $2_qSNz_PG_GP38_Q30] . re p p

1. Both Statement | and Statement || are true//oem | 3z || S&t @ca &
[Option ID = 11017] Your Personal Exams Guide
2. Both Statement | and Statement |l are false/mem | 37 || 36 T &

[Option ID = 11018]
3. Statement | is true but Statement Il is false/wem | w3 £, fiveg wema 1 s &

[Option ID = 11019]
4. Statement | is false but Statement Il is true/®ue | swra 8, Roog oot || a0 2

[Option ID = 11020]

26) Bluetooth is:

oIce &

[Question ID = 2756][Question Description = $2_q5Nz_PG_GP38_Q31]
1. Wireless LAN protocol/arnemr v ¢ oo fadia

[Option ID = 11021]
2. Short-range data transmission protocol/og $3 =mr gamer geksiT

[Option ID = 11022]
3. Interoperability protocol/sma: qeremie gemie

[Option ID = 11023]
4. Peer-to-peer networking protocol /aweseh () 3 ereslt (diez) seafider qesie

[Option ID = 11024]

27) What is Pixel density?
Rya3a1 aelca o= & 7

[Question ID = 2757][Question Description = S2_qSNz_PG_GP38_Q32]
1. Number of pixels per column and per row on a monitor /e #fsiies uz gfer oo 2 g Gfts Kerdica &t sz

[Option ID = 11025]
2. Number of pixels per square centimetre/yftre! Ikl ndesm & Z==m

[Option ID = 11026]
3. Number of pixels that make up an image /fieer &1 3= i 6 /i &1 somae 34 ggee 8

[Option ID = 11027]
4. Number of horizontal and vertical pixels that make up a screen display/diffm diz ez Frrdcs o o St B woien e o gomae 8 o &

[Option ID = 11028]

28) Given below are two statements: regarding the JPEG file {Joint Photographic Experts Group) :
Statement I: JPEG files use a lossy format file compression method.

Statement |l: JPEG is used to store photographs as a reduced file size.

In light of the above statements, choose the correct answer from the options given below

JPEG (sarc widenibe waaud w9g) © an 3 ol &1 oy Re sme §

wed - | ¢ JPEG wisen & g yRfreu wiser Fidise i w1 suzier st 8

@wad - Il ¢ JPEG @1 surieT o Row a1 B APR O 4 A BIERE] @I 3501 g Sidr &

IudTe Wl & el 3, ofld 6w °1e Repeal 3 A A8 3w ©1 oua S ©

[Question ID = 2758][Question Description = 52_qSNz_PG_GP38_0Q33]

1. Both Statement | and Statement || are true//oem | 3z || S&t @ca 3

[Option ID = 11029]
2. Both Statement | and Statement Il are false foam | &5 1 S5 ame &

[Option ID = 11030]
3. Statement [ is true but Statement Il is false/@wem | == &, Rreg wem | s 2

[Option ID = 11031]
4. Statement | is false but Statement Il is true/@e= | s &, fveg ea || 3 8

[Option ID = 11032]

29) Which of the following statements are correct regarding Random Access Memory (RAM)?
A. It is an internal chip where data is temporarily stored

B. It stores the part of operating system currently in use

C. It is used to store the BIOS

D. It is non-volatile memory
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Choose the correct answer from the options given below: I r e p p

Yosa Yada dad (309 ¢ ow) B an i Beafifiaa oo oua w8 oua o gite
A. oI5 o sidlRe R gl & B swer o gz wu 3 sisiie Roe s 8

Your Personal Exams Guide

B. @1z adaret 3 u=dier a1 3@ soaRids Rivca & He1 I 48K @3 &
C. oot Fu=iieT ol arrs 3l OH o 8§51 3¢ G &

D. sz iz - dluvlia (diacrsa) aad &

ol fou sre faepodl 3 3 1l st @1 ags difen ©

[Question ID = 2759][Question Description = $2_qSNz_PG_GP38_0Q34]
1. A,Band Conly/@am A, Baiz C

[Option ID = 11033]
2. Cand Donly/@we C sz D

[Option ID = 11034]
3. Aand Bonly/mm A SR B

[Option 1D = 11035]
4. A, CandDonly/@am A, CaAm b

[Option ID = 11036]

30) Match List | with List Il

List | JList 1

Type of Software |Examp[e

4, Word Processor |I. Mac

B. Database |II. Open-office

C. Operating system |IIL Dracle

D. Utilities lIv. Anti-virus

Choose the correct answer from the options given below:

2t | 1 3t -1l B A b ;

et -1 aredt -l

(e W yoom) |(zerzzmm)

A, s gidnn Il v w okt

B. =R 1. shter - sttty
C. sittisftan forea I, speverer
Dyt Il‘ul'. woel - ARIEH

ot i o Frredt & 3 758t awz gfem ©

[Question ID = 2760][Question Description = $2_qSNz_PG_GP38_Q35]
T. A-l,B-11,C-,D-I¥

[Option ID = 11037]
2. A-lIl,B-l,C-1,D-IV

[Option ID = 11038]
3. AN, BN, C-l, DIV

[Option ID = 11039]
4, A-IV,B-I1,C-1,D-I

[Option ID = 11040]

31) India’s national-level forest policy dates back to :
a1z ot wredier ¥z O gor ofifer wor frfer Brerfvor avg o1 37

[Question ID = 2761][Question Description = $2_qSNz_PG_GP38_0Q36]
1. 1894

[Option ID = 11041]
2. 1952

[Option ID = 11042]
3. 1988

[Option ID = 11043]
4. 1994

[Option ID = 11044]

32) Given below are two statements :

Statement I: Amorphous silicon is highly light absorbing material,

prepp
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Statement |l: Amorphous silicon is not suitable material for solar cell development due to its non-crystal prc! ertiesl e p p

In light of the above statements, choose the correct answer from the options given below .
Your Personal Exams Guide

ol <1 werer Ru am & ¢

werel - | 1 aRprecier Ritreia swa iz @& yorel saeilus AEE] E

werd - || 1 aftpredita Biftroia serd 31z - Rozea spenilt & orw ik Ja © o © R suge aee)t a8 &
IWfth Dol @ el i, ofld v e fescal 3 2 71dl svz &1 9era i @

[Question ID = 2762][Question Description = $2_q5Nz_PG_GP38_Q37]
1. Both Statement | and Statement Il are true/=em | iz |l S&i 3w &

[Option ID = 11045]
2. Both Statement | and Statement [l are false/mem | dr || Sicdl areea £

[Option ID = 11046]
3. Statement | is true but Statement Il is false /e | 27 &, Frog @ud | oera 2

[Option ID = 11047]
4, Statement | is false but Statement Il is true/wem | sewa &, Fosg wem || &

[Option ID = 11048]

33) Which one of the following has, both positive and negative radiative forcing in the climate?
fBreafer¥aa 3 3 @iar 3 oo @ srorary (aarsdc) # eencae Az Qrencass Sl Ydanelrca o arn srar 3 ?

[Question ID = 2763][Question Description = $2_qSNz_PG_GP38_Q38]
1. CO; (Carbon dioxide)/ CO; (wrier =1 smarss)

[Option ID = 11049]
2. CH4 (Methane)/CHy (aftérer)

[Option ID = 11050]
3. NO; {Nitrogen dioxide)/NQ; (emxiem =8 sifaams)

[Option ID = 11051]
4. 03 (Ozone)/0s (aiste)

[Option ID = 11052]

34) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Lockdown in 2020 in India was imposed under the Disaster Management Act

Reason R: COVID 19 is the first pan-India biological disaster being handled under the Disaster Management Act
In light of the above statements, choose the correct answer from the options given below :

i) ot wead Ru o0 & : wep afdnpera (Assertion A) @ wu & 3iiz o1 33 wrwt (Reason R) D wa # .

sifirperet (A) @ siea 3 2020 Ji cifassisel smust Yaosel sitiore o siasla oemRn orn an

@w1vl (R) : anuer gegrer affformr & siveta dredl smet arctt @ifas - 19 genr zigui smea w7z &t Sifae amaer 2

IUATe Bl @ AERD #, R By famed # 3 718 saz o wre Hifsw |

[Question ID = 2764][Question Description = $2_q5Nz_PG_GP38_Q39]
1. Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) St o & Atz (R), (A) & 3¢ o &

[Option ID = 11053]
2. Both A and R are true but R is MOT the correct explanation of A/ (A} sz (R) Sial 7w £ gz (R), (A) o 3t wemecm =i

[Option ID = 11054]
3. Ais true but R is false/(A) 37 &, oy (R) smra &

[Option ID = 11055]
4, Ais false but Ris true/(A) sera &, mag (R) wrr &

[Option ID = 11056]

35) The faintest detectable noise by a healthy human ear is of :
O 3A3-9 Aol © ool @ aflviad Faz g7 aa gl darell smars fedey 2Baa &6t 2t 2 7

[Question ID = 2765][Question Description = $2_qSNz_PG_GP38_Q40]
1. 0dB

[Option ID = 11057]
2. 1dB

[Option ID = 11058]
3. 10dB

[Option ID = 11059]
4. 20 dB
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[Option 1D = 11060] | re p p

36) The time gap between two sessions of the Parliament should not exceed : Your Personal Exams Guide
e @ o JAgi @ @ AR seaer s st ot sten @ifde

[Question ID = 2766][Question Description = $2_qSNz_PG_GP38_Q41]
1. 3 months/3 w26t

[Option ID = 11061]
2. 5 months/5 mger

[Option ID = 11062]
3. 6 months/6 #gier

[Option ID = 11063]
4. 12 months/12 sdiar

[Option ID = 11064]

37) Uin AYUSH stands for :
g™ (v o g oa va) # U siEieem 2 ¢

[Question ID = 2767][Question Description = $2_qS5Nz_PG_GP38_Q42]
1. Urban/srd=

[Option ID = 11065]
2. Universal/gftreda

[Option ID = 11066]
3. University/ghmaRid

[Option ID = 11067]
4, Unani/gemstt

[Option ID = 11068]

38) Inter University Board set up in 1928 to promote University activities by sharing information and co-operation in the
field of education, culture, sports and allied areas is now known as :

3ime - foraftEnem 912 @1 oo 1928 3 smerpRl wr= @ AT f3ien, dAwah, wa iz st aqi 3 Jeae gr1 Realkienorr 6 sifefafei
Tl YIrleal gol &d Kol o0 33 319 19521 ol 3 Soll SIell & 7

[Question ID = 2768][Question Description = 52_q5Nz_PG_GP38_Q43]
1. Association of Indian Universities /s frafener Sa

[Option ID = 11069]
2. Central Board of Secondary Educators/@iy smeabne Ben o

[Option ID = 11070]
3. Central Advisory Board on Education /@i Ben moemr g

[Option ID = 11071)
4, University Grants Commission/Rrealemrr smemr arie

[Option ID = 11072]

39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Government is preparing high quality bilingual textbooks and teaching-learning material for science and
mathematics to enable students to think and speak about the two subjects in their home-language/mother tongue and in

English.
Reason R; Government should promote all regional languages

In light of the above statements, choose the most appropriate answer from the options given below :

i) ot Wt R o0 3 @ wep afdrpera (Assertion A) @ u # 3iiz o1 33 orwt (Reason R) D wa 4 .

sifirrerst (A) : FopR 3a samn acil frandt uiga geae siiz e site st & e f&iamr siffem FeEll ot e o 3 3 B e
ezl Sl femedl @ ant 3 el Fenefie smar / wwysar siie 3is|Eh smar # A i dicer Ge 81 I35

@Il (R) : 7enr o Fsft Sfier smunalt o Yemnfaa owen iy
IR @Gl & e H, ofiEr Ry fawedl 3 3 w1 sz o ame Hifswe ;

[Question ID = 2769][Question Description = S2_qSNz_PG_GP38_Q44]
1. Both A and R are correct and R is the correct explanation of A/(A) 3z {R) gl =2t £ afiz (R), (A) 1 =& o= &

[Option ID = 11073]
2. Both A and R are correct but R is NOT the correct explanation of A/ (A) 4= (R) 3= =8 £ weeg (R), (A) & =8 o ol &

[Option ID = 11074]
3. Ais correct but R is not correct/{A) a8 & wimg (R) o & 2
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[Option ID = 11075] . re p p

4. Ais not correct but R is correct/{A) =t 72 2 uzag (R) =2 2
[Option ID = 11076] Your Personal Exams Guide

40) Given below are two statements :
Statement I: Values are an enduring belief about the way things should be done or about the ends we desire

Statement |l: The values we form are influenced by our circumstances families, friends, age, gender, environment,
tradition and culture

In light of the above statements, choose the most appropriate answer from the options given below :

oflY &) weret e s10 §

averot - | 1 g disil o oA wa # R soon aifde sads afy 3 seran aifva 32ewll @ an oo rarh w3

averor - || @ Bror geeil aor formior s e & sm® ofifraferd, ofvaEl, Bigl, s, Risr, gufaver, adaw Az degfy 3 oofda g 3
Rl waell @ sneis A, ol Re oo Rroseal 3 31 w18 30 o armer Hife @

[Question ID = 2770][Question Description = $2_qSNz_PG_GP38_Q45]
1. Both Statement | and Statement [l are correct/mem | 4 || Sl =t &

[Option ID = 11077]
2. Both Statement | and Statement [l are incorrect/sam | 7 1| St siom £

[Option ID = 11078]
3. Statement | is correct but Statement Il is incorrect/wem | =t &, fveg oo || orwr &

[Option ID = 11079]
4. Statement | is incorrect but Statement |l is correct/mear1 | srem 8, Prog wemt || 3t

[Option ID = 11080]

Topic:- GP38_D3_SH2_SET2_C

1) Read the given passage and answer the following question.

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those enormous creatures of the sea
which are the largest remaining animals in the world. Te protect the whale from the celd of the Arctic seas, nature has provided it with a thick covering of
fat called blubber. When the whale is killed, the blubber is stripped off and boiled down. It produces a great quantity of oil which can be made into food
for human consumption. A few other creatures yield cil, but none so much as the whale, The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.

Yegetable's oil has been known from antiquity. No household can get on without it, for it 15 used in cooking. Perfumes may be made from the oils of
certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another, But when the politician or the engineer refers te oil s/he almost always means
mineral oil, the oil that drives tanks, aereplanes and warships, moter-cars and diesel locomotives; the oil that is used to lubricate all kinds of machinery.
This is the oil that has changed the life of the common man. When it is refined into petrel, it is used to drive the internal combustion engine. To it, we
owe the existence of motor car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and afr. This kind of oil comes out of the earth. Because it burns well, it is used as fuel and in some ways, it is superior to
coal in this respect, Many big ships now burn oil instead of coal, Because it burns brightly, it is used for illumination; countless homes are still illuminated
with oil-burning lamps. Because it is very slippery, it is used for lubrication,

=il 2 s1Ener o ulkee i ged o1 3az e

i @ o g A3 §  Slelde, goedld, i mba e 3 9 8 9 O o S5 A6 oia | g el ¥t B wege & Rrena Hie & S R O Jes 93 A6 961 91 59
R oot g o A 3 s & grsn meat @ A gpft &t 53 ol ol ool acht a3 5 g o gora fGen s o et §, o el ot e 33 sam
& & U5 oOd B T #E B IR Tl § R ae siet 95 R mrer uerl 99Rn 5o wedl 3 0 o qinRd ® A e | 3 affea sda O Finren Reslt o | ot
O g < ot = Siv Eeflae wasn e die el siiY R 30 |l ot ot o Bitey Predisr St sirasaesa gl 81, aerst By s §

osrrafil Aer oy ay ¥ gells e dt oneeerfl Rt srewe o swel B amer st aemn; vaftoe B 59 sisrer aoiy 3 gepes e wen o e fafte el & Preodt
1T et 3 @0 B WAk ¥ AWge dorrar i e @ S0 A @eny @

g e el @ e, A @ o GoR @ @ S8 Hecagyl 3w  ARcH o ToEiaT e SeitRer Rodlt e 3 Hdw wmd & o o afwsiown aread sifder de 3 Jar
% ; Tz Ao s By Tool, wand srensl oy wp Ol oy o sy See aretiRa o weofir wvay B gz fe s el geere ot moltel & Ry wiwes o oY oF s B § o uw
Pt oA 2o o Siiver m) ana R € s 91 O @ s A abionRo v s E a3 s9e @ aeniie oo © Harre # g e s o R Alcror © gor O
gifeaett 2, et 95 3 9 ol el deer ! girafa st sad R aHiaghieeit | sadirm, st A T e TR g D il Sl aea B & 51
g W A Sailel I it H RBrorer swo E awiis ap st meE ofd gn &, atiny i gEier fae o v A Een E i st aee # g wiel A aE wEe 3 A5 A A0
& dgd 3 92 e AW wiRe O oete O Y S o Al v gadier 3t SR B it W aasere ikl 3 semen £, W gl ot O fome saudier Ear # arorfiera w3 ansdt oft Om
2 srer arey S A Aokt g gt ¥ awiifes we st Rewom oren 8, s@foy sa@wT auele e @ 59 3 g §

Yegetable oil is/was :
amrrafi Ao &5 iy A

[Question ID = 2771][Question Description = $2_qSNz_PG_GP38_Q46]
1. Known to people since ages/=i=il @ 770 A wa £

[Option ID = 11081]
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| 2. Unknown in ancient times/qeiis a5@r 3 s=0 & I l e p p

[Option ID = 11082]
3. Known only in the old days/<xwe yrdter Ter 3 & wr e Your Personal Exams Guide

[Option ID = 11083]
4. Known only to old pecple/dam guer &wil &1 & aor 2

[Option ID = 11084]

2) Read the given passage and answer the following question,

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world. To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver o¢il are given to sick
children and other invalids who need certain vitamins.

Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may
be made from the oils of certain flowers. Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another. But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery. This is the oil that has changed the life of the common
man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air. This kind of oil comes out of the earth. Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication.

Sl By wrerigr et ofdy s ga o vas S

et B ol Y& Hg & . sz, aorsuld, 37 mfomr el 3 gid giel arcl dd bl a3t s <ol 3 g aldl 8 sit e s9g & feme sila & =it
fra o> a3 93 AR dicl S gY Silelas 8 sidied 3pg oI Afdal A gaor ot IEan ®Ior @ o gola of 331 azdl o Sl arcdl azn A 5 ge
U3 Yool Rown & s oo A3l 3, a9 el ! orpiorss 33 3911 & & Ag dd Bl a3 ARI 1 Irlod Xl & BRI AR 3usHe @ R @mEr
ucrel GoIR o Fpal € @ Jed QIR 3 da foreon airan & cifed <2a @ oo el aoa A adl gy @ ®is @1 T A1 Edllae a@a
da S Tl iz ea gAY ARl o1 By oo Bifta RaBer & sraeaom 2 3, 3o Re ond 3

goryafer da @ a3 i grella wa A serodt 3 el sy o s Ron o aidl g, safte 5§33 siser gerer A gars e sar §
URRH oo foifad weil 3 fordict a1v «Icl A ol 2l ADd 2 Algal detzuiel 372 SlordRI @ el A Tolle Ik &

U AT AGH & 18, da & o YR g3t @ Wi Accayyl &1 Ao & aikbol aia Istolan rerar seilforas fpell et 3 Fider 7@a & dl Jamn
aftrestore: areRf Fforst et 3 Bl 2 | @ O ot fp Topl, aar SEel i g ulal, A o it Sea detiea ol Fafera s 3 ag aa
St w1t o1z ot welial @ Rie 3o @ dir 9z o e & u9g ad Brea ana sneedt © offaa @ soa Rar 2 =@ 391 Ula @ wa i afweni?a
fepa e 3 o 33 dotol @ Aedl¥e <asl @ Aol A YIeb Kown Sk 2 s e diczenr @ diol @ gieneil 2, ol 8igh A o SRl sierared
arsenst o gitrafia o Bar  sad Rre sl & gitceoll 8 sa6t raa, wag i ag 3 a2 snel ardl g @ adal o) aoa @ 3 va gor
DI ¢¥cl Sl @ ol 3 forplen AT 8 a<ilics @18 A=l 126 Sool GBIl 8, 33IeIT 3AMmI YIS €6 ® U 4 aidl & A1z 2rbl aulg A 33 el 3
e BRICY A e AT IR 2 aga 3 a3 Sl 3d BRI DI oeIe Od ©Y 6 & diz oz JuEpl F AAE  aeiifes a8 auascrz wiids 3 ararr 2,
5 QEpIV Il O o1 IUu=NET Gial & seifetent @l & sl off Srar 31 srorel o A A Jderd g al £ @il @ affre fssoa aen 3, saiie
23] IR Tolgd & U H 2T 2

According to the auther, whales are;
Sl T 3, s B

[Question ID = 2772][Question Description = $2_qSNz_PG_GP38_Q47]
1. The largest animals that have ever lived in the world/smA st e S e s ot o 8

[Option ID = 11085]
2. The largest animal living in contemporary times/ mrprts w9 # iR Tu3 ot oo

[Option 1D = 11086]
3. The largest reptile /==l == 33taa

[Option ID = 11087]
4. The largest animal living in Caspian Sea/dhume apr # Sifn a3 o s

[Option ID = 11088]

3) Read the given passage and answer the following question.

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world, To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield ¢il, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.
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Vegetable's oil has been known from antiquity. No household can get on without it, for it is used in cookih’ertree p p

be made from the oils of certain flowers, Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another, But when the politician or the Eryg?n%re??£§glj;‘gt!) Exams Guide
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel

locomotives; the oil that is used to lubricate all kinds of machinery. This is the oil that has changed the life of the common

man. When it is refined into petrol, it is used to drive the internal combustion engine, To it, we owe the existence of motor

car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the

methods of warfare on land, sea and air. This kind of oil comes out of the earth, Because it burns well, it is used as fuel and

in some ways, it is superior to coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is

used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for

lubrication.

ofte oy sramian ol A gt o Iz Sk |

a1 @ el g 7 & : Solaz, aorrald, iz mioral sierasl 31 g Sl ard dor ot oSt AR e A qry exil & S fo wg @ faene Sita & s
fora o5 el 93 KPR dicl 9 gU Sliold? & 3ipiew 39 Ol AlGal A sad &I Iz wel & fore gl of 331 awsdl wdl sl arcdt awn 3 ed gu
U Yeldl [oal & o oddl @il &, | Tl @ forbieio: 32 Jdlel & & U6 ddel Dl <31 AR ®! FcUool il & 511 #lold 3uslsr @ fere mrer
aoref ot s W 3 aye arsw Rl A da B st ¥ Aftver @da © Braon Rl e A &8 g St @S wr a3z 3eflac aaya
i1 ez sl 3z o g3r el @) frce @ ifua Reber & smaews 2kl 8, o) e @ &

Jorzufa a1 @& aik # yrlicl ®a 2 aeierdl & [Reell 3fezer @l 5o RKion @@ ol aaar; safow [p 331 sisiol aerel d gyes [een o 8
ORI B foffaa Gal 3 forord 318 (T A 9ol &1 Adma € HIgol doirule 3T SeEnt @ O 3 Jele oI 8

ey FTENROT MGt O e, o @ o goor oA @ A mscagef & awd ¥ dfver st saran sern Sefiferae Roeht da & wwer @ma 3 ot soret
stf¢renior: arru=l miorst dd A 3iar 8 ; 96 od 51 kb &ol, a8 swEl e g didl, dic: oRI iz Slee dikoldlica @1 dwaicn o 3; 98 ad
it w0l goprz &Y Fefiall & e Foee @ diz U b 8 2 A8 da [zl 31 ancal & Shiael o aca Ran € 5@ 331 Ugia @ »u 3 afyenfia
e sen 3 or 391 $oto1 @ seal¥es geor & e A gy v s 3 s Rie slcewr @ @151 @ gitoeft 3, Brra aist A & sei sicvarett
ASEIE B gfirenfia o B sud e ssel ® gRemit S sua ver, awg di arg A o SIS Gl g & askoel ) aca R @ 53 yor
asr o seftar @ ol 3 forren sier 8 4Ry s sredl s gear A 8, safte sEost geilet ferer @ Ba H Sen 8 i st asie A v ves #
G WRICT A A0 AGT SIK & a5 A 93 SI6El 36 DI Dl SPIs A Wl $206 © diz R el A ad 2 a9iRe a5 amber adikd A e 38,
AT YbI9l BFor & Fo1 IURIST KT & aaifdient w3t 3 anft ot Aa A Saor ara du 3 Moeh g Skt 2 owiifs a2 aftis fivaas aren 2, Tafog
THET INRAET Yaew © F9 i fiar B

Which one of the following is NOT one of the three main purposes for which mineral oil is used?
foraifeifian 3 wior AT v ol FEea I2edl 9 A oidl 3 K fere wmibrst A W su=ns1 Ko amar & ?

[Question ID = 2773][Question Description = $2_qSNz_PG_GP38_Q48]
1. For lighting/wmer @ fowr

[Option ID = 11089]

2. As fuel for motors/#es & fow $umas =q 3
[Option ID = 11090]

3. As an economic power/ sofifos offr © =a &

[Option 1D = 11091]
4, As lubricant/ oeEs & 70 &

[Option ID = 11092]

4) Read the given passage and answer the following question,

There are three main groups of oils: animal, vegetable, and mineral, Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world. To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.

Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may
be made from the oils of certain flowers. Soaps are made from vegetable and animal vils.

To the ordinary man, one Kind of oil may be as important as another. But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery, This is the oil that has changed the life of the common
man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air. This kind of oil comes out of the earth. Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect, Many big ships now burn oil instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication.
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g gorst v § o o3a mall 3, og ol o RBeormwy 33 sara 34§ ag da & it magy qﬁammﬂ%mﬁmagnrﬁe

ucrel GolRn 50 @kear € O Ao YIftREdl 3 aa foreon @iran € ciftser a2 @ foraan Rzt ace 3t &dt g e ﬁaﬁu@ﬁiﬁaﬂaﬁml |
de1 Sos acal 37 a0 gEY cEl o B ave Riflra ReiBer & sireesar 310 3, Jorr Ry ona ¥ Your Personal Exams Guide

goryaftr da @ a # grllor wa A seodt 3 e sisry o s Ron o aidl g, safte 5§13 sise gerer A gars e sar §
R __ o i Gl 3 el 91 a3 @0 8l IWpd 8 JIge Joiui iR SIorR! @ o 3 a6me SR &

=P HEMRVI AGH D R1e, A ® o6 YR o33 @ S #Aacayul 81 Ihd & dikbol S/ IShial 3remar ssiiferr Roell da 3 s 7@ma § a et
afrepiere: arewd wforeT e 3 3T B ; 98 Od o b ¢, sar Slersl ol g uldl, #Hie: orl i oo aieiea @1 dafera o 8; ag aa
St w13t gro1e &t Aol @ Rie 3o @ dir Uz o M E A6 ad Brea o gl @ offaa o soa BRar 2 =@ 391 Ugla @ wa i afienita
Topa =Irelr & | 33 $alol @ 3lovilicds cael @ Hdiclel A YIrp Kbar oIntl 2 s3@ fow dAlcrpr @ gld @ giespuil 2, frera Jisi 31 of arll aelardt
arsrenst o gierafia o B sad fre sl & gitceofl 8 sa6t raa, wag iy ag 3 o snel ardl g @ aial o) aoa @ 3 va gor
DI eI Sidilel @ ol 3 forplen AIRll & o<ils &g el %6 <aol Blal &, AT $3dl YAPI 366 © BU 4 alal & iz sarbl e A 33 dHef o
e BRI A Jea AG IR 2 aga A g2 Sl 3d BRI Bl oele Od ©Y Sie & diz a2 JuEEl F Ad € oeiifes a8 guacr wiid 3 s 2,
5 YEpI9l ol O o1 Iu=NeT Gial & seiferend @l 3 sl off Srr 31 srorel ama A A Jderd g il £ iRy @ affre fssoa aen 3, A
SIHI IUAIPT Toied @ HU & eNI &

"Mo household can get on without vegetable oil, for it is used in cooking”, means:
"fepil aETer o derrulil el & el SR ofél acIar TRIifes 3T YRR silsial Jollol 3 Bl 8" SHoT anad 2 :

[Question ID = 2774][Question Description = $2_qSNz_PG_GP38_Q49]
1. Households and vegetables oil cannot get on with each other /eEwe iy serafer T s oAl & =@l gl o Jew

[Option ID = 11093]
2. Households can manage without oil/seser cleil @ we e 96 o a0 JawT 8

[Option ID = 11094]
3. Oil is an essential ingredient in cooking, so households need it /ey Aiewr Ao # sewes Ao & safcn sfE=el 1 33! anaeaesar ardl 8

[Option ID = 11095]
4, Households can get on with cooking without vegetable il /fers=a Ren wersaf i ar e @ e 35 o &

[Option ID = 11096]

%) Read the given passage and answer the following question.

There are three main groups of oils: animal, vegetable, and mineral. Great quantities of animal oil come from whales, those
enormous creatures of the sea which are the largest remaining animals in the world, To protect the whale from the cold of
the Arctic seas, nature has provided it with a thick covering of fat called blubber. When the whale is killed, the blubber is
stripped off and boiled down. It produces a great quantity of oil which can be made into food for human consumption. A
few other creatures yield oil, but none so much as the whale. The livers of the cod and halibut liver oil are given to sick
children and other invalids who need certain vitamins.

Vegetable’s oil has been known from antiquity. No household can get on without it, for it is used in cooking. Perfumes may
be made from the oils of certain flowers, Soaps are made from vegetable and animal oils.

To the ordinary man, one kind of oil may be as important as another, But when the politician or the engineer refers to
oil s/he almost always means mineral oil, the oil that drives tanks, aeroplanes and warships, motor-cars and diesel
locomotives; the oil that is used to lubricate all kinds of machinery. This is the oil that has changed the life of the common
man. When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe the existence of motor
car, which has replaced the private carriage drawn by the horse. To it, we owe the possibility of flying. It has changed the
methods of warfare on land, sea and air. This kind of oil comes out of the earth, Because it burns well, it is used as fuel and
in some ways, it is superior to coal in this respect. Many big ships now burn oil instead of coal. Because it burns brightly, it is
used for illumination; countless homes are still illuminated with oil-burning lamps. Because it is very slippery, it is used for
lubrication,

ofte oy srpian ol afiz gt o Iz Sk |
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Qil-burning lamps: I r e p p

A1 3 STcrer A da

[Question ID = 2775][Question Description = $2_qSNz_PG_GP38_Q50]
1. Are used in more and more homes nowadays/ il affr o e d oo da 2

Your Personal Exams Guide

[Option ID = 11097]
2. Are not used at all/am ggre il 2o 8

[Option ID = 11098]
3. Burn more brightly than any other kind of lamp/ a1 wor o du 3 JfFr aewor i & o 2

[Option ID = 11099]
4. Are used by a large number of people, although not so many as previously/ a1 Fie=w 3 &Ell g1 GERE o &, J=i 9eot & Hien A w1l 39eist 3+ &

[Option ID = 11100]

Topic:- Qdia_Set1_A

D eeat 0af ogd, 2158 60l QAIR 698 — 18 OG5 694 GI6RTA ?

(1) a6k dseRd 2) 6QIS FRicas
(3) od6ee dalead 4 eoGen dnend

[Question ID = 3316][Question Description = Q01_Oriya_SHAAN_5DEC_S51_Shift1]
. 1 [Option ID = 13261]
2 [Option 1D = 13262]
. 3 [Option ID = 13263]
. 4 [Option ID = 13264]

oW

2) -
QIAIFE 629 6R6Q AGTC 24 ?

1)  edgl ATIGER (2) Of gEde ofese 8T 4e 6a6R
@) QREe6es AL @) asie g IRIea1 S

[Question ID = 3317][Question Description = Q02_0riyva_SHAAN_SDEC_S1_Shift1]
1. 1 [Option ID = 13265]
2. 2 [Option ID = 13266]
3. 3 [Option ID = 13267]
4. 4 [Option ID = 13268]

3 — " i
) QL QF QRIRIR SERITIRIL 66@ BF2 QISY FIal AGID0 62In QFRIER 698 QIFY QeI QHSE ?
1 e (2) gl
3) Qfqlsea (4) Qs

[Question ID = 3318][Question Description = Q03_Oriva_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 13269%]
2. 2 [Option ID = 13270]
3. 3 [Option ID = 13271]
4, 4 [Option ID = 13272]

4) 5
609 Q1A UASIR ¥ Olg ‘¥ 2NLIFHNER 696?
1) RNIEes (2) SQgesIng
3) b e lale (nlale (4) 6R6091NERIY

[Question ID = 3319][Question Description = Q04_O0riya_SHAAN_5DEC_S51_Shift1]
1. 1 [Option ID = 13273]
2. 2 [Option ID = 13274)
3. 3 [Option ID = 13275)
4. 4 [Option ID = 13276]

3)
{6 deultlies 94-66ld] 6ganae Q1R QARSI 696 QIS 22UIRY ?

1) osEes 2 aaaml
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(3) Rl (4) GlEddi1Esll

[Question ID = 3320][Question Description = Q05_0riya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13277]
2. 2 [Option ID = 13278)
3. 3 [Option ID = 13279)
4. 4 [Option ID = 13280]

6 w
) @e FEQIY 6@Q QIgiE QARCRIR 4RIRE 26 ?

) QKIgea 98 g1 QR 260 @) geeae ARIAR g1 9o e26as
@)  geEagdR ARGl g1 QE0R TRaBee (4) TRGIQ ARl g1 ARISFINE QISRFER]

[Question ID = 3321][Question Description = Q06_0Oriva_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 13281]
2. 2 [Option ID = 13282]
3. 3 [Option ID = 13283]
4. 4 [Option ID = 13284]

7 .
FNGY ORGEl 69R @ IRl 956 ?
(1) eeed K 2) <leqeax
(3) Q69 O (4 ARGy ANLIQ

[Question ID = 3322][Question Description = Q07_0riya_SHAAN_SDEC_S1_Shift1]
. 1 [Option ID = 13285]
2 [Option ID = 13286]
3 [Option ID = 13287]
. 4 [Option ID = 13288]

R T

8 e -2
) YRG! 208’ g ARSI ALININGE 69a aT6a Q& ?

(1) epae 2) Galeas
B a9 @ e

[Question ID = 3323][Question Description = Q08_0Oriva_SHAAN_SDEC_S1_Shift1]
1. 1 [Option ID = 13289]
2. 2 [Option ID = 13290]
3. 3 [Option ID = 13291]
4. 4 [Option ID = 13292]

9) .
JIeRed 710 698 9559 ARIRI 99 2
1) 96 Q) 26
(3) WOlRIE] I (4) Q6UT 9

[Question ID = 3324][Question Description = Q09_0Oriva_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 13293]
2. 2 [Option ID = 13294]
3. 3 [Option ID = 13295]
4. 4 [Option ID = 13296]

10)
332 QIgeea PI0d 8 GEIed AR Qollel &g ?

1) Gelen qlk @) 12666 QId
(3) SR (4) epaIR QI

[Question ID = 3325][Question Description = Q10_Oriya_SHAAN_5DEC_S51_Shift1]
. 1 [Option ID = 13297]
2 [Option ID = 13298]
. 3 [Option ID = 13299]
. 4 [Optien ID = 13300]
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A. SeCISl 1912

B. QR@69IQ QR
C.  QIYERQ gRaeaa

D. CRACERE ARG

O@ 0eed G908 99
(1) AGB 2 Ba&C
@ C8D @4 AgD

[Question ID = 3326][Question Description = Q11_0Oriyva_SHAAN_BDEC_S1_Shift1]
. 1 [Option ID = 13301]
. 2 [Option ID = 13302]
3 [Option ID = 13303]
. 4 [Dption ID = 13304]

e kad R

12) 6004 gRIe 8561 6096a GO 66 986 Jeela 2

A @19

B. Q%

c. a9

D. QI

0@ ead K108 ea:

(1) AGB @ BaC
3 CeD (4 AD

[Question ID = 3327][Question Description = Q12_Oriva_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 13305]
2. 2 [Option ID = 13306]
3. 3 [Option ID = 13307]
4, 4 [Option ID = 13308]

1) as0g 910186 @099% “Folk Tales of Orissa” G290 9990% F6010 696 gag 2676 ?
A 9R9 QAN

B. 362 SRINRILIEN

C. QIR g d°ge

D. @el] Ml

0 Raed Gi0d Qa:

1) AGB (2) Bac
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[Question ID = 3328][Question Description = Q13_0riya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13309
2. 2 [Option ID = 13310]
3. 3 [Optien ID = 13311]
4. 4 [Option ID = 13312]

14 i s
) ‘RIS’ G CIERTIER” AW QARG g O9C @ |

A 96T
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D.  &aekIR
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3 C6D 4) AeD

[Question ID = 3329][Question Description = Q14_0Oriya_SHAAN_5DEC_S51_Shift1]
. 1 [Option ID = 13313]
2 [Option ID = 13314]
3 [Opticn ID = 13315]
. 4 [Option ID = 13316]
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[Question ID = 3330][Question Description = Q15_0Oriva_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 13317]
2. 2 [Option ID = 13318]
3. 3 [Option ID = 13319]
4. 4 [Option ID = 13320]
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Q) ABCD (2 A,C.D,B
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[Question ID = 3331][Question Description = Q16_0riyva_SHAAN_BDEC_S1_Shift1]
. 1 [Option ID = 13321]
2 [Option ID = 13322]
. 3 [Option ID = 13323]
. 4 [Dption ID = 13324]

QQIeR €8, QEeR AINIGITL, MRIFLR A6 8 §d6 Fa QA AFFSH ATINE ASRIFER AR |
A geaeaag

B. geadwl

C. geeges

D. Q6914 6 &ges

O Qeet GRlnd aa |
(1) D,BAC () B,ACD
3 A C.DB 4 C.D.BA

[Question ID = 3332][Question Description = Q17_0riyva_SHAAN_BDEC_S1_Shift1]
1. 1 [Option ID = 13325]
2. 2 [Option ID = 13326]
3. 3 [Option ID = 13327]
4. 4 [Option ID = 13328]
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uestion ID = 3333][Question Description = Q18_0riva_SHAAN_BDEC_S51_5hift1 .
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1. 1 [Option ID = 13329]
2. 2 [Option ID = 13330]
3. 3 [Option ID = 13331]
4. 4 [Option ID = 13332]
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4. 4 [Option ID = 13336]
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[Question ID = 3335][Question Description = Q20_Oriva_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 13337]
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[Question ID = 3336][Question Description = Q21_Oriva_SHAAN_5SDEC_S1_Shift1]
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4. 4 [Option ID = 13348]
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1. 1 [Option ID = 13349
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4. 4 [Option ID = 13356]
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[Question ID = 3345][Question Description = Q30_0Oriya_SHAAN_SDEC_S1_Shift1]
1. 1 [Optien ID = 13377]
2. 2 [Option ID = 13378]
3. 3 [Option ID = 13379]
4. 4 [Option ID = 13380]
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4. 4 [Option ID = 13384]
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[Question ID = 3350][Question Description = Q35_0Oriva_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 13397]
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3. 3 [Option ID = 13399]
4, 4 [Option ID = 13400]

prepp

Your Personal Exams Guide

Topic:- Odia_Set1_B

1)

fORee 2geeed UI0Rd QG decgan aae @2 |

SUIOG 690 6RIG ge & S 62Ia @ TI68 | 69T 697 e ARSI 626/, PRGRU SLIGHSI AR USSR |
Ja SHQeR AR 6AIAIR 6268 TUIY. T9I AARAR SR60 8 T9a IR QA | 2 CQUER QWIS AR
SAICNG! GREOIER, Fadl AR 6AIYS! FOICH Zaln K8l | HIGA 2I9Asa 3414 | F49I9 Riea Jaer 9
| 66015 996Q goId 2in 0ae JIRINEa SRRy 9gAIRG AICANIER galdl R, gRIY aibsa Sa
6gIR2lia | SIQRICRIRT 644 6l Riosy S8 g6, Jama ol 8A6!, 98 f6r AFARR! 895! 98 WS,
64 S0 91 6R7 @ AI6, AGIERIR IR @ CIKA| BIRR TOIK 6XINS! AWe, FORG 1ee, Vad 1ee
661, 656Q BI-Q18 AFRIAISE FINRIQT 62IR2IN | IS GAWIR TR | FAMIQ TR §a | Sa SR6a Fel
AR geeKER AR @8 §ER QIR GAIAe J6RINAY YPRR, A8 FISRER F8dEs-gsRsse AagR 6
IRIGR! 2192, 9 SUK 64 FEA g UILAIR & 62IR I& AR ARIRER BYB 08, 12§ F1IRGER 96 *R2N |

6QUG gQ 629Ia 6IGNG! ?

D
6)

44l 3 &I (2) de%a ge awnla ek
AAINEQ BIGG TRI4 4 geda rIsa 489R
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4. 4 [Option ID = 13551]
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[Question ID = 3396][Question Description = Q51_Oriya_SHAAN_SDEC_S1_5hift1]
1. 1 [Option ID = 13584]
2. 2 [Option ID = 13585]
3. 3 [Option ID = 13586]
4. 4 [Option ID = 13587]

12 . N
: (&2 QAR CRRGLER YD FON?

A @

B a

C q

D @

O eaad G8ind aa
() AGB

(2) BacC

(3) CaD

4 AGD

[Question ID = 3397][Question Description = Q52_0riyva_SHAAN_BDEC_S1_Shift1]
1. 1 [Option ID = 13588]
2. 2 [Option ID = 13589]
3. 3 [Option ID = 13530]
4. 4 [Option ID = 13591]
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[Question ID = 3398][Question Description = Q53_0Oriya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13592]
2. 2 [Option ID = 13593)
3. 3 [Optien ID = 13594]
4. 4 [Option ID = 13595]

[Question ID = 3399][Question Description = Q54_Oriya_SHAAN_SDEC_S1_5Shift1]
1. 1 [Option ID = 135%6]
2. 2 [Option ID = 13597
3. 3 [Option ID = 13598]
4. 4 [Option ID = 13599]

[Question ID = 3400][Question Description = Q55_0Oriva_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 13600]
2. 2 [Option ID = 13601]
3. 3 [Option ID = 13602)
4. 4 [Option ID = 13603)
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1) A-IB-TNLC-I D-IV
@ A-TMB-IC-I, D-IV
@ A-LB-ILC-I, D-IV
@ A-IVB.LC-II, D-TI

[Question ID = 3401][Question Description = Q56_0riya_SHAAN_BDEC_S1_Shift1]

1. 1 [Option ID = 13604]
2. 2 [Option ID = 13605]
3. 3 [Option ID = 13606]
4, 4 [Option ID = 13607]
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4 A-IVB-IILC-I D-II

[Question ID = 3402][Question Description = Q57_Oriya_SHAAN_SDEC_S1_5hift1]

1, 1 [Option ID = 13608]
2. 2 [Option ID = 13609]
3. 3 [Option ID = 13610]
4. 4 [Option ID = 13611]
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=) JA-l1l, D - LY, -1, LF-11

4 A-IB-IV.C-III, D-1I

[Question ID = 3403][Question Description = Q58_0riya_SHAAN_SDEC_S1_Shift1]

1. 1 [Option ID = 13612]
2. 2 [Option ID = 13613]
3. 3 [Option ID = 13614]
4. 4 [Option ID = 13615]
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[Question ID = 3404][Question Description = Q59_0riyva_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 13616]
2. 2 [Option ID = 13617]
3. 3 [Option ID = 13618]
4. 4 [Option ID = 13619]

20)

‘@ 90 286 ¢ 2aq QUYS 4'ae F9ad G |

‘@ e o 9a
L= I @18ed
B. 641@ I. 6519
C. ggadl 11 ¢gd
D. ¢ IV. 4ai9

G0 S0990% AU 2aYs 29eT B ea:

) A-IVB-IILC-IL D-II
® A-ILB-1,C-IV, D-III

 A-MLB-IV.C-T. D-I
@ A-LB-TLC-I[, D-IV

[Question ID = 3405][Question Description = Q60_Oriya_SHAAN_SDEC_S51_5hift1]
1. 1 [Option ID = 13620

2. 2 [Option ID = 13621

]
3. 3 [Option ID = 13622]
]

4. 4 [Option ID = 13623
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[Question ID = 3406][Question Description = Q61_Oriva_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 13624)]
| 2. 2 [Option ID = 13625]
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3. 3 [Option ID = 13626] l e
4. 4 [Option ID = 13627

Your Personal Exams Guide
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(1)  6qIe galof 2) Spad e
G  oduadgel @) 26eG8ALeIR

[Question ID = 3407][Question Description = Q62_0riya_SHAAN_SDEC_S1_Shift1]
1. 1 [Option ID = 13628]
2. 2 [Option ID = 13629]
3, 3 [Option ID = 13630]
4, 4 [Option ID = 13631]
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[Question ID = 3408][Question Description = Qé63_0Oriva_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 13632]
2. 2 [Option ID = 13633]
3. 3 [Option ID = 13634]
4, 4 [Option ID = 13635]
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[Question ID = 3409][Question Description = Q64_Oriya_SHAAN_SDEC_S1_5hift1]
1. 1 [Option ID = 13636]
2. 2 [Option ID = 13637]
3. 3 [Option ID = 13638]
4. 4 [Option ID = 13639]
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(3) lemiasi?) (4) Q6L

[Question ID = 3410][Question Description = Q65_0Oriva_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 13640]
2. 2 [Option ID = 13641]
3. 3 [Option ID = 13642]
4. 4 [Option ID = 13643]
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[Question ID = 3411][Question Description = Q66_0Oriva_SHAAN_SDEC_S1_5hift1] I re p p
.1 [Option ID = 13644]

.
2. 2 [Option ID = 13645] Your Personal Exams Guide
3. 3 [Option ID = 13646)
4. 4 [Option ID = 13647
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[Question ID = 3412][Question Description = Q67_0Oriva_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 13648]
2. 2 [Option ID = 13649]
3. 3 [Option ID = 13650]
4. 4 [Option ID = 13651]
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[Question ID = 3413][Question Description = Qé68_0riva_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 13652]
2. 2 [Option ID = 13653]
3. 3 [Option ID = 13654]
4. 4 [Option ID = 13655]
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[Question ID = 3414][Question Description = Q69_0Oriva_SHAAN_SDEC_S1_Shift1]
1. 1 [Option ID = 13656]
2. 2 [Option ID = 13657]
3. 3 [Option ID = 13658]
4, 4 [Option ID = 13659]
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[Question ID = 3415][Question Description = Q70_0Oriya_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 13660]
2. 2 [Option ID = 13661]
3. 3 [Option ID = 13662]
4, 4 [Option ID = 13663]
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(1) AGROQOR IR6260E A QQAYS QUISHII
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[Question ID = 3416][Question Description = Q71_Oriva_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 13664]
2. 2 [Option ID = 13665]
3. 3 [Option ID = 13666]
4, 4 [Option ID = 13667]

32)
36160 996 (19eY F2ITIRE | 1R 69I5Q IR (Assertion) ‘A’ RI6R \I&° AIER I8 (Reason) ‘R’ QIR

P9¢ QUIIQE 1
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[Question ID = 3417][Question Description = Q72_0riya_SHAAN_5SDEC_S1_Shift1]
1. 1 [Optien ID = 13668]
2. 2 [Option ID = 13669]
3. 3 [Option ID = 13670]
4. 4 [Option ID = 13671]
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[Question ID = 3418][Question Description = Q73_0riya_SHAAN_SDEC_S1_Shift1]
1. 1 [Optien ID = 13672]
2. 2 [Option ID = 13673]
3. 3 [Option ID = 13674]
4. 4 [Option ID = 13675]
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[Question ID = 3419][Question Description = Q74_Oriya_SHAAN_SDEC_S1_Shift1]
1. 1 [Option ID = 13676]
2. 2 [Option ID = 13677]
3. 3 [Option ID = 13678]
4, 4 [Option ID = 13679]
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[Question ID = 3420][Question Description = Q75_0riya_SHAAN_SDEC_S1_Shift1]
1. 1 [Optien ID = 13680]
2. 2 [Option ID = 13681]
3. 3 [Option ID = 13682]
4. 4 [Option ID = 13683]
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[Question ID = 3361][Question Description = Q76_0riya_SHAAN_SDEC_S1_Shift1]
| 1. 1 [Option ID = 13444]
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| 2. 2 [Option ID = 13445]
3. 3 [Option ID = 13446]
4. 4 [Option ID = 13447]
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[Question ID = 3362][Question Description = Q77_Oriva_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 13448)
2. 2 [Option ID = 13449]
3. 3 [Option ID = 13450]
4. 4 [Option ID = 13451]
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[Question ID = 3363][Question Description = Q78_0riya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13452]
2. 2 [Option ID = 13453]
3. 3 [Option ID = 13454)
4. 4 [Option ID = 13455]
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[Question ID = 3364][Question Description = Q79_0riya_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 13456
2. 2 [Option ID = 13457)
3. 3 [Optien ID = 13458]
4. 4 [Option ID = 13459]
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[Question ID = 3365][Question Description = Q80_0Oriya_SHAAN_SDEC_S51_5hift1]

PR e e

. 1 [Optien 1D = 13460]
2 [Option ID = 13461]
. 3 [Option ID = 13462]
. 4 [Option ID = 13463]
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[Question ID = 3366][Question Description = Q81_0Oriya_SHAAN_BDEC_S1_Shift1]
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| 3. 3 [Option ID = 13466]
4. 4 [Option ID = 13467)
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